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3.

Conflict theory is often criticized for falling for the cause of
(A) Women rights (B) The right of workers
(C) Minority rights ﬁ Latent functions

e Camun@ eremugy) wHiler efpsélaamen dpearmie) Cewig aupm@eag)
2 GLD.
A) Quamser 2 Menwser (B) Gsmflererigafler 2 Mepwger

©C) SAmurenenoulenilen 2 Menoser D) wvepsHHSHD 2 ST

‘Social change’ obviously means a change
M In the system of social relationship

(B) In the system of economic relationship

(C)  Inthe system of cultural relationship

(D) In the system of political relationship

‘Feps wrpnsdHen GeraflliuemLwrer Qurmear ellaTésb aThs euamsudld SeEmg)?
(A)  &ups 2 mellen jenoided

B) Qummerngry enolibed

(C) searésmy sewLIb0

D) c's;mé]u_m'u 2 meflem Demwlige

“The Protestant Ethic and the Spirit of capitalism”. Who is the author of the book?

ﬂ Max Weber (B) Karl Marx
Herbert Spencer ' (D) C.H. Cooli

“Endmsss Qamarens HMID waorailssie erpsds” e Hrene eropdweui wmi?
(A)  wrsev QeusHuT B) smye wrT&E

(C©) Qanrur’ ev@Quese (D) C.H. se

3. ASHSO/19
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4. The theory of challenge and response was putforth by

(A) Spengler : M Toynbee
(C) Sorokin - - (D) Parsons
Caaens e @gsmgnémsiu Gem_ L —— ) (aTEEESILILLE).
(A Qurssen | (B Lmend
(C) GCsnGprdlen (D) unfremenev -
5. _Accordmg to Marxian view the capitalists accumulate profit through :

(A) Immovable property
(B) Income tax relation

(CI Political power
~) Exploitation of labour

Lomiréserdl 6t a;(njggﬂuuu} apgeomaflser @g’,aﬂ paoLd QernEs)d @Gﬁlg,grrrrasm
A)  wsun Qensgidser
B)  augwoner eufl gerissed
- {0)  sirfwue ofsmrb
@) .Qg,ma@eonmr'ressmm SRRSO

6. From which science the term “evolution” is borrowed to soeiology
. (A) Natural Science ' ' '
(B)  Physical Science

M Biological Science '
(D) Environmental Science

.%gqa;em_ b5 <2iPeflwel(mHe urﬂamrmmm erenm Glamed &meﬁugua;@ Qa;rrm‘r@em;ruul_l_g;?
(A) fupes @a;ﬂeﬁ]mm -

(B) QupGue é[ﬁaﬁlu_leo -

© euifler oiflefudm

@) sHDOUD GYd sifleflud
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“A retail business man who earns a lot of profit becomes a wholesale businessman”

is an example of ———— mobility.
(A) Inter-generational

% Intra-generational
(C) Structural

(D) Horizontal

“@m Soweay elpumanurart flswrs ruCLWE @ Qurss eSHumeanuTeTyTs
2 haumeug)” ——— Hlaeuwuireihsrer orHSHESTL (.

A) saagenuieL U Quwiie,

B) seewepyeraflart Quuiie

C) slLewiy feeQuuiey

D) S fleeuCuuiey

The change which is brought by war in the social_hierarchy is called
(A) Vertical mobility

(B) Horizontal mobility

M Structural mobility

(D) Downward mobility

Gurilenmed gepasts Ligeuflensuie gHLBSSILEWD WIHHD —————— erarLHILD.
4) Adidleeuuuitey

(B) eﬁem_ﬂma)u Quuwitey

(C) s Lewiyl Quwiey

(D) &PCrrédlw Quuwitey

. 5 ' ASHSO/19
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9. Which 1s the root cause for social problems 1 oux soc1ety‘?

M Social inequality (B) Poverty
(© Unemployment T - (D) Crimes

Feps NTFFMENEE lig LIUGDL STEID 6T ?
() ewps Caugun( ' B)  agew
(C) CoumouGdemn (D) GDDLD

10. Which of the following system ensures to the rational use of available talent? |
J Socialhstrati.ﬁcati;aﬁ | -
(B) Economic stratification
(C) - Political stratification
D) Religioﬁs stratification

ETHS MO Lnauﬂggua@mm él;pcmwa;anm eﬁl@msggr_ea uuewu@ggjﬁw;pgj?
A sops §IJ'LJ Lgirﬂeq

B)  Qumgemsny s7 Gflay

©  orhuésyafe

@)  sow s GOy

11. What does deterniine the range of one s social contacts 1n the soclety'?

% Caste or class o (B) Religion
(0 Community (D) Race

sepssde prauaiean saps Asm e BlirammiSlis s g 1) HUPS SIEIDLIL| GT517?
A) @rd (&) auitsd . - ® _Lng,ﬁ: h
| (C) FAPSTLID ‘ - (D). @end
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12. —— is the sentiment that characteristics the relations of men towards the
members of their own and other classes.

Class-Consciousness : (B) Class-Complexity

(C) Class-Struggle (D) Class-Representation

Seneen_ W eu@GLiL &gﬁlﬂmﬁammqm. wHm eEUy 2 muberisamerubd, welsisafer
QsrLitysamar Qamer(h auheanfléEs) e Wemiunmb g ——— D@ELD.

4) aguy-snilaw (B) au@liy-8ése sam

©) aEuYCurymLib D)  auy-gearalnsse

13. “Castes are hereditarily specialised and hierarchically arranged groups”
The above statement was given by
(A) Ghurye ‘ (B) D’souza

.

Bougle (D) Morris

“endlaser eremuemeu LFbumuile seaflgarenwud ugBlaauild eumslLBSSILILL LT

G(P&&HET 2@D” Gl sahm ————— 46 S DULLLF).
A Gy - B) qCamer
(C) CGunsCe (D) Cuomrflen

14. Which of the following is not true about caste in India?
(A) Caste is a endogamous group
w Caste is a hierarchical division of society based on achievement*
(C) Caste system was imposed restrictions on social relations
(D) Caste system was imposed restrictions on food habits

Yemmeu(peuareunmieT @bl Liefléd grHepwits UMM 2 STELWINMG) 6TE)?

(A) &1d @ SRS G '

B) e&rd caugmzLQUpsEe SlueLwuns Qeranr® spssms ughaasaie Wfliug)
BGD

(C) andl wewiy saps QamLimysafled sl QUurhsmer SanflsSns

(D) &rd wiemwiy 2 aeyls LSS aussasaile s HUuTRamar Haflsfns

p 7 ASHSO/19
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15. The mobility resulti_ng from system changes — rather than individual achievement is

called ——————— mobility. - -
(A) Relative . . (B Absolute

(G) Lateral | | . g d Structural

. seflnalls pupdaailend awmﬁq#aﬂ@ wrHpRiseTR HLHL Hearabuwie

Hlenew G]I_J"lur'rm %@m
@ guse ® e
(C) ussam @ - : (D) S1_L_GhLDLIL|

4

f
16. I. “A son of a mason th;‘dugh éducational_ attainments .hebpmes : aﬁ university
professor” i$ an example o}’_— mobiiiﬁy. |
: w . Inter — generational -
B) Intra - generational :
(©) - Relative
(D) Structural

(5 Qs;rrﬁ,g,afmﬂe&r aas  seaafl sFpHemed  gH udsmassps GuyTAfwd _.{%éug,j"'

PereQuuialie o a@ssEsm (.-
A lﬁmm@mmuﬂél__u@uwﬁm

' (B) _gmw@@m@ﬁaﬂm#ﬁ Quu;uﬁ@

© guSLe owduuie

D)  slLewly feotuwiea
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17.

18.

The mahar movement was led by
(A) E.V. Ramaswami

(B) M. Karunanithi

.A), B.R. Ambedkar

(D) Sri. Narayana Guru

&TT @SS Wrymed UL SSUILILL &)7?
(A) m.Qeu. progmd

B) . smawhHd
©) 9.y SDCuGETT

D) b prrmuen G

Social stratification is to be found in the conquest of one group by another said by

(A) P.A. Sorokin

(B) Kingsley Davis

d Gumplowiez

(D) Karl Marx

S G(Weraeu HAMT( &Y ngﬁ)aq_ggyg,m apaLd 2 (HESMLDE 2 (HEUMSEGLD erer QFTemaneuit

(A) Y.¢g. CenGprdlen

B) A&Areved CLaefev
©) . EWwemreien

(D) smye wrTSED

ASHSO0/19
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19. The repel_ti'tive Petty acts of the people is called

(A) Mores - (B) Customs
(C) Rituals W Folk ways
| nésetmed  Baw@d 'LS@s'ar@Lb G&uﬁﬁ_[é;aaxlq_tu an Qewdsd - GTGTLIG
é-le‘JiEQéS&L:JLJ@Lb.
(A aupssgurpaer - B) LYss aupEsHEeT
(©) .&I_I'I:ll(gﬁﬁh' (D) i@y @Qé@aeﬁ
20. “The  -three prinéipal divisions of sociology narﬁely ‘social morphology, spcial

physiology and general sociology” was articulated by
(A) Pareto . ' " (B) ‘Spencer.
w Durkheim | (D) Parsons

Fps e muafiud, seps @u.lrméﬂueu opid: Gurrgl sopsefiud .Q,eﬂu.l agbossfﬂus&aﬂ Qe .

' @gma)mu.lrrem ﬁlrﬂma;emsrr FnpleuT
(A) QUG Gr S .' ‘B) evQuensi-

(C) vLr8b . (D) unfrgmemey

21. Who atticulated “man is a socml animal’?

\ﬁ Aristotle e B) Darwin
(C) Auguste Comte _' (D) Herbert Spencer

‘Loafige e Fops ek srang) Gemeane Fabluig wTir?
A)  eflebrinind ' (B) Lniefen

(C)  =ysevl Gembl . (D) Qamiur’ evGlLiera . -

- ASHSON19 | | 1 S | e



22.

23.

“Sociology as the science of collective behaviour” The above definition was given by

(A) Small
(B) Weber

‘M Park

(D) Ginsberg

“sapsellud aeatug sl s BLbBE QararEnn aepuiar iflaflwud” Cuheapliul L e

2 AaTHEsiurLg).

(A) evwmed

B) Ceuurr
C) unmis
D) derevuis

“Sociology in special, gives aid to psychology, just as psychology gives special aid to

sociology” The above quotation has been said by
d Maclver

(B) T.B. Bottomore

(C) L.F.Ward

(D) Durkheim

“2 areflwe erliLg FapselugusE SAnliuns 2 saflnGsr CsCumed sapseflwe Hpliurs

2 arelwaisE 2-58ng” CunHeapiiul L sapn —— 6 sapUIul L g
(A) Cusgeur '
B) 4. 9um GG

(C) erev.erly. aumirl_

D) L&

11
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24. Who has contributed to the development of ‘theoretical sociology’?

M Comte

(B) Herbert spencer
(C) Durkheim

(D) Mead

Cam_ur’_(® sepseilweer cuatiéflee unisafldseum wm?
(A) Gasmbl

- (B) Qaprui’ ev@uengr
(C) Liesd

(D) Qe

25.  Sociology in its approach falls under the category of
(A) moral

d ethically neutral

(C) immoral

(D) amoral

&@&@uéﬂe&r DS GWPMD THS euensuier S aumdlenmg)?
(A) g,nﬁLBang

(B) GpdsGHlen

© Gpblgedu

D) Gpflupp

ASHSO/19 12



26.

27.

28.

According to —88™—, “Sociology is the synthesis of various social sciences”,
(A) Sorokin (B) Robert stead
(C) Auguste comte M Hobhouse

spseilue earug grdaarssuulL s sMelwudsaflar AsT@gly erem spans

ga e
A) Qsmyéden  B) gruit s@LL
(C)  ysevr Gambr. D) Caprianee

According to Morris Ginsberg, the branch of sociology which deals with the ‘quantity
and quality of population’ is called

(A) Social pathology d Social morphology

(C) Social physiology (D) Social process

orfldy  Sereviiddn gapmlulg, W&sET QsTeasuier eramentd WHMIL UMTNTSHIL 6

QgrimyenLw sepseflweder Haner ———— erariuBib.
Q)  sups Crmuiwe B) seps o Lpsadludm
©) sups augeuawued (D) seps Qewpunrig

The type of sociology which is rooted in dialogue is called

(A) Professional sociology d Public sociology
(C) Policy sociology (D) Critical sociology
2 apwnelle HlenawQara Fepaeilwaiear Hlare ——— erariu@ib.
A) ampsans Qsmfle Fapseflwie (B) Qung sepseiluic
(C) Qsrerens sepsafiwed D) wmyhlee sepseiwc
13 ASHSO/19
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29. Who has contributed “Th’eoiy of Division of Labour” fo the field of socivlogical .

thought? _
(A) Auguste Comte d Durkheim - | ‘
(C) Max Weber (D) Simmel '

sepseilue. dppoade aend Gsiés, Goume LEGOY Ga;r_rLiJm;m:_ SHHEUT  WITT  GTEM

GOIAE?
A) sl Csmbr . B) Liwewd
© Guosdvesur . (D) Sbwd

'30. Which of the following statemenfs is TRUE with rural social life in India?
.I. Rural family is more organically functidning | .
II. Rural people lay stfess on formality
I‘I.I.Birth rate is high in villages |
IV.Death rate is Iow in villages
(A) TandIV o (B) - 1l and IV
(© MandIV . & tanam

(Sietreu (HLD ah.g')@#aﬂeb QB oaryE Fops r;sunlepml_& Filwrs GurmhEeus) _érgl?
1. oaps @@mum Blseyld @uihenswins Q&mmu@&]{p@ | | |
IL. eamps w&&6T (papUUY QFUGSEHSE ifls Wéd ng,g,Ja.lLo g,@élmrrrr&m
III.I_CI][IJLJL_] aﬁ’g,m Symomisafie ._g,y{é,]a;m

IV. @i aﬁgm dlymohiserfle @@mm

@ 1 oppbIV - ®) I wogi IV

© I wppud IV ©) T wpg 11T

ASHSO/19 IR 14 T p



31.

32.

33.

Match List I with List IT and select the answer using codes given below :

List I List IT
(a) PMRY 1 1R
(b) JGSY e ] O S
(c) NREP 3. 1993
(d) IRDP 4 1999
(a) (b) () (d)
A 1 3 4 2
J 3 45 S el 2
(&)= d 3 1 2
) 2 1 4 3
aflows I — g auflens II e QummsS sflwnear eflenew EClp 2 drer QsTELI90 QHHS!
Cam0sHés.
auflena [ _ cuiflens I1
(a) PMRY IS 1080
(b) JGSY el OIS
(¢ NREP SEE903
(d) IRDP 4. 1999
(a) (b) © (d)
a 1 3 4 2
(B) 3 4 1 2
< 4 3 1 2
D) 2 1 4 3

‘The Article which empowers the president of India to declare a new group as
“Sgheduled Tribe”. :

342 (B) 164
€ 224 | (D) 330
@BHu @Ggwres .gsmsueur'r @m Udwu Guames “beeeurp ordl” eear oMedliy Qe
2 smroaf&E@n aurss).
(A) 342 S (B) 51
(€):. 224 D) 330

Thgmain occupation of Toda tribals of Nilgris is

Rearing cattle (B) Smuggling
(C) Agriculture : (D) Paultry
bedlfl Camm wenaeumpardudearien wpédw Qzmble
A) <0 wrE eueTTEge B) sLsz®
(C) Neusmud ' : (D) Gasmeueriy
15 ASHSO/19
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34. Which of the people were oocuﬁying in the rural areas?

(A)
(C)

Heterogeneous people - Hom(‘)genous People

- Urban people (D) Tribal People

SGERNLEDE T WéEeT @& Hoynoseas %éaéuﬂggjd'rmrrfrasd’f?' _

(A)
(©

LeOpSSEend QGTemL 1&aeT - (B) of G wvasd

B&T Lo&EET D) LG WésHT

35. Cultural lag means

- distance between material and non-material

(B) distance between non-material and physical elements
(C) distance between physical elements and _t.raditional elements
(D) distance between modern elements and traditional elements

uamum_ () Ca&aLD i SamL areaLF)
(A)  Qumrgeremt eTUT g hHEn QurmeTemy uainurn'_q,r_h@m 2 grar @enL_Gauef]
B) Qummér sy LT 1§ HED @mﬁ)Gﬂn@dT ENHS Qs&uruni_lq‘ﬁ}@m o drer @enLGeuafl
R (Y)] @mgb@un@s‘x‘r.&nﬁ‘ﬁsg, UL g (@D oL a;nfr;fr)g, ueRTUTL g HEGW 2 arer @en_Qenetl
- (D) melar ueTUT GHEW WIY &rl'fl"l_ijg-uaﬁ'ILIlﬂ._tq.f_i)@Lb o Grem @mLQme‘ﬂ '

_ 36. Which of the followmg is not the measurement of the poverty?

(A) malnutrition
(B) poor health

(C) low income |
JD) high standard of life / sophisticated life

&Gy Gsn@asasuu;@mmmmas@ﬂa) TDBE Gasm;wr@ FLpepLoanLl élGTGﬁ]L_ PGUITS?
(A) e555 GeoDUd

B) Govhs %Gumé]mm 2ihag %qura;‘ﬂu_nﬁlmmm

©  Gopps aumwmed

(D) - by eunpsens
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37.

38.

Indira Awaas Yojana (IAY) Scheme related to the provision of grant for the

construction of houses to the members of
(A) urban scheduied caste

(B) urban backward caste
J scheduled caste and scheduled tribes

(D) rural economic backward people

@odym sy Gungenr SHLsHar ap@ib
Qar@ssluBhEng.

(A)  BeTSTPESILLL ESEHES

B) ps7T GOHURSSLILLL WEHEHES

(©) smpssOLLL LHDID LPEIGEETITHES

(D) = dgmwo Qur@mermamy WHLULGSSUILL L 1&SEHEE

Which of the following is the Ninth Five-year plan in India?
(A) 1992-1997
(B) 2002-2007

M 1997-2002

(D) 2002-2012

@pwireen geisreis) &Mmﬂ@é HLib erg)?
(A) 1992-1997
(B) 2002-2007
(C)  1997-2002
D) 2002-2012

17

W&EEHEEG IBsr Hlg6

ASHSO/19
[Turn over



39. “Out of one rupee that is spend by the Government for developmental works, hardly
15 paise reaches the common man”. Who acknowledged this statement?
(A) V.P.Singh _ (By Indira Gandhi
(C) Jawaharlal Nehru 3; Rajiv Gandhi

“aueriFflSH LD LanlleEnéE s @aIssh Qe g emumllia QG)JQ]LD 15 epuigm g,rran
FNSTTERT LOGHISan e GestpenL&ng” eransd @GBIUELLeuT wri?

(&) VP am - B Qudrmsmpd
C) gogpiardCrn @)  prgdes s

" 40. - Match the followmg -
(a) M. Karunanidhi

(b) Biju Patnaik
(¢) Vengal Rao
(d) Bakshi Gulam

, @ B © @
A 1

Iyengar Commission

Vimadalal Commission
~ Sarkaria Commission
Kapur Commission

e S =

3 2 1
B 1 4 3 2
() 3 4 1 2
D) 2 1 3 4
G]u_r‘r@‘é;g,@ :

" (a) M. s@enmhldl 1. gu_l_réwsrrr'r W
) S8 ud smus 2.  eflingsevmed Gip
() Qeursned prey 3. ergamfur @up
d) J.uand Geomb 4.  sUTEW

@ ) © @

A) 3 4. 2 1
M 1 4 3 2
() 3 4 1 2
O 2 1 3 4
41. The ILO-2000, estimated a child worker age is
(A) bHtol6 : (B) 4to15
¢ btol4 (D) 4to17
ILO-2000 -6t semfinSlemis. @Qﬁ)mgg G}-‘e_r,rré]eurrmr'r'a;ﬁﬂsirr GUILIZY GTGHTLIZ)
(A) 5 Ampa 16 s@er " (B) 4 Smps 15 s@er

(€ 5 Nmpg 14 sger . (D) 4 Smps 17 s@er
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42.

43.

44.

Which commission explains the Educational Unemployment?

(A) Kalelkar commission \M | Kothari commission

(C) Mandal commission (D) Gurupatha Swamy committee

THS&E (P svefufarme gL S g Caumeamiifearainaw eferéESng)?

(A) sedeaT @ B) Cangsmil @
(C)  wewre @ D) murs smd G

Which of the following is a social cause of corruption?

(A) Election funding

M Materialistic outlook of life

(C) Frequent acquittals
(D) Inflation

Speu(meuarelHMIET 2arLpeNler FApE STTERTLD 6TEI?

(A) Csizale HHwalgse

B) aumpsemsulian Bgrer Qurer TibHs LiMTa6
(©) Qam_iréflurer el (HsmavEHET

D) ueweSEsid

Which of the following is not a technological factor of unemployment

~(A) Trade cycle ‘ (B) Mechanisation

(C) Automation W Vocational unfitness

Spaumeuaraunmer Geuameudenanoulien Qsmbler mi L sryentlucOTsg) eg)?

A) @isss spnsl (B) @updlywwiorse
C) sreflwmdowwrgd D) uvellsg sEHwDDHMme
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45.  Differential opportunity theory of crime is given by

(A) Adler (B) Cohen
(C) Sutherland ' Cloward -

@gb[pg),a‘,]@a;nw wrmUC e eumbdy Canlum_e Qairsgeurn
Ay eler _ . B} Csrzenr
(C) ssrenan . D) sCamaui@

46. Match the List T with List T by using the codes given below :

ListI List IT

(a) Lombrosso 1. Labelling

(b) Sutherland 2. Atavism

(¢) Howard Becker 3. . Differential Association
(a) (b) (c)

A 1 2 3

B 3 2 1
© 2 1 3
x)z 3 1

- uligwed Ty uligwe I 2.1 o &Gy Qar@ésiinL. ghlui e uwdnu@éﬁl QurEBSEs

ulgwsed I 0 utlgueIT
(a) CGaowGrrGsr 1. Ceouedi
b) ssTCwmL 2. eIlCleflad
(0 anreui(®) Qudsi 3. g LiFeirfled < CanHGuaes
@ ® ©
A 1 2 3
B 3 2 1
C 2 1 3
o) 2 3 1 -
47. “Some parts of a culture change at faster rate than other related parts” is an
explanation of approach. i
(A) personal deviation . J cultural lag
(C) wvalve conflict (D) anomie
@ LT g 61 flo) LUITERIGET WhHpaeusmer eflil_ Geuslons LTINS GOILILE
efleréa Cum_un(® o ' ‘
A) seafipufien sassb (B) uerum { Gsssb
(C) eflldlu aprerrum® o (D) enmmA
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48.

e

50.

Which is not a Type of Child abuse?
(A) Physical (B) Sexual
Social (D) Emotional h

GH®s Fen|nssalern cuesuie rgg)
(A) 2oLdlue B) umedwe

©) seps (D) o ewrie)liTeunreT

Which of the following article is dealing with prohibition of ch11d labour

J 24 . B) 25

26 D) 32

Gwhmgs Csmleomert gL LHHIE samid 9
(A) 24 | B) 25
C) 26 : (D) 32

"Coﬁﬂict and Cooperation are not seperable" the statement given by
(A) Karlmarx
(B) _ Durkheim
Cool_éy
(D) Weber

" @U@, @hmenih 9NEs g uTsmen” GrETD FaHen SHSE WTi?
(A)  smiTed WMT&eD
B) vLieswd

(C) el

D) e&hui

21 : : ASHSO/19
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51. — isthebasic principle- which is aésocia_ted with the positive stage.
(A) Mutual co-existence ) (B) Legality -
~(Cy  Love of family w Universality

L& e Blenau e Agm_yentuwl g iueL Csrarans
(A4)  upebury FEeuTPey ' (B) &L Slavev
(C) Obuured ' D) wsemeilu Hlane

52. . Group power depends on _
" (A) socialisation and culture
- (B) . Social process and social interaction
(C) Values and norms ‘
Culture and social structure

@@éﬁls&r cuelieno eTeng &nﬁ;jsg;s‘r_rm@'
| (A)  sapEDLILTEE WHYD LETULIE |
B) swps QeupurbiE LHmb ea r’Lb
©)  wHIUSPseT LHMD CpHad
(D)  uaur® LHRWL sppsE SiwLLY

53. Selpct the correct answer of th main types of social groups.
j Primary and Secondary groups
(B) Formal and informal groﬁps
(C) Voluntary and involuntary groups

(D) Peer group and reference group

- Faps Gupsseien Qe cumasaar CHibAsH
(A) | (P56 ,r_Fﬂ.sa')a) HmID QresrLmbd Hlewcw Gupdser
B)  p@puTar HDID (PSDLHY GESET
(C) seamemmiteu LOHMID FevauMTeUODD GLYHEET

D) afAursseursafier @g wpmd LlbgeapaEsELIL_L Gpsser -
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54.

55.

“Internalisation of norms” is associated with socialisation.
J) SPrimary: . = (B) Anticipatory

(C) Developmental ) (D) Adult

“@ndleamar .é[&\G}JUJI;ILJ@g@@G‘D" Qamii OaramHerer FEPSLOWILDTS6D

F(PSLDWILDITSED. . .

A  wsofow 5 ®) @aGapur @

(C) euerigd D) eawg eubGapmt

or being guided by the welfare needs of others.

(A) Civilisation

\M Socialisation

(C) Assimilation

(D) Accommodation

is the process of working together, of developing group responsibility,

Qe gy @Guwelar sLewol Qumplieeu CubuBssdlann Sioag WLHnaTEallar Has

Goeaisae aufl pLEsLILE Qeuidpenn sramIL@1b.
) ik |

@) e

©) g;eifr.mmmrrg,é.)

D) @asaupse
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56. A symbol is the sﬁmmary of
(A) transmission : _ 6 experience

< pract_icés (D) activities

Spsaar_ameusalld s wrangdan QerEliL eraneu eramuig) GHILNIPs.

4)  =glyse ' B) siguan E
H{O) LIPS SRS ET : D) Qewdursdr
57. Social relationships represent the - aspects of society
w Functional (B) Theoretical -
(C) Philosophical | D) Spiritual

FAPE & DESET &@&'&,QG&T créleIamEwITeT QELeLIT el Ghéfering.
(A)  Qeudun® smips - | | B) Cerlun( snips

©)  sszieubd sihs D) e sy

- 58.  Which one of the following is a factor hindering assimilation?
A) | Toleration ' o ‘ A Isolation
(C) Amalgamation (D) Educ,atidn._

\Demapeu e DIIET SEMOLIDTSME SarL Gaii b smyend ag?
@) Quipd | . ®) gssehes

| (©C) soae D) sl
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59.

60.

When was Jawaharlal Nehru National Urban Renewal Mission lauhqhed?

(A) 2002
(B) 2003
u( 2005
(D) 2006

spauamieomed Crh Calw Bar L AL Sl b eriGunpg) Himeutiul L g?

(A) 2002
B) 2003
(©) 2005
(D) 2006

According to 2011 census, the number of towns in India is

(A) 5161
(B) 6112
(C) 8232

2011 wése Qsrens samsdl gy @bdwrede o drer paprisaflar araraflsms

@A) 5161
®) 6112
(©) 8232

(D) 7935

25 . ASHSO0/19
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61. Urbén communities are stratified

(A) more on caste basis : (B) less on class basis
W more on class basis ' (D) more on homogenity
BET FPSMUBISET ——————— SIJLD f&s ILES emmer.

(A) a@&ﬂuq_u_lrra; sordl ogiuewL e (B) gopaurs cugly SiglueLule
O w@dstiuguns augly siglivac@e (D) é{é‘&iﬁi DI UINS @HAPES Feamenoiley

62. The “Non-Brahmin Manifesto” was relea_sed by
(A) Dravida Kazhagam ' (B) Dravida Munnetra Kazhagam
: w Justice Party " (D) Sathya Shodhak Samayj

“Arweisidar Siflsms’ u.|rr|1r.rsb Cevaflf i gy? .
A)  Sorefl spsbd : - B) dyreflL gpenGenhp Sipsid
©) psasd : D) ssw &Cgn Flomsy

'63. " Assertion (A) : 18.59% of the people living' in cities are not supplied with “safe”
drinking water. | |

. Reason (R) : Several cities. dischargé 40-60% of their entire seﬁage and
industrial effluents untreated into the rivers.

o J Both (A) and (R) are correct (B Both (A) and {R) are wrong
' (O . _(A) 1s correct but (R) is wrong (D) (A)is wrong but (R) 1s correct

gapm (A) :  18.59% pefeump 0&ESEHEE LTSISTILITET @Lq_ﬁﬁ.‘ GﬁlﬁlGu_lrré]éssﬁul_aﬁlebmso.
smyertid (R) 1 fleo parmisetieh 2 arer sLDsamy 40-60% rau.as)r;r Qamplheranas &.@éq&mr@ub
' (penpuwing Lipmofily Gereomogyib gLl ROwrégwrs urpul Hererg.

@A) (@A) vppd ®) sH C® (A) wpm R) sem

© @ s ®) o D) (&) pouy (R) &A
ASHSO® | 26



64.

65.

66.

A person who drinks alcohol three or four times in a month is called

(A) rare user (B) 1infrequent user

(C) light drinker M moderate drinker

S LISSS DG APETN DIDF) HIETE (LPEM LOG] 4 (Hh)L6UT ——— eranii(hmmi.
A)  <eidgrs LweaTuBSgLeuIT " (B) @a@waiCurg vwearu@®sgLeuT
©C) @Empeurs @igliueui : (D) =erCGaur(® Gl Lueur .

“Working Class Boy and Middle Class Rod” theory was propounded' by

(A) Walter Miller d Albert Cohen
(C) Shaw and Mckay (D) Fredrick Thrasher

“@irdln Sarmav LM HHID Blige Hermev pr@” Camum’ e Camhmielsseur wiri?

(A)  eumeLiT Beer B) <eour Carser
(C) &mwHmD QuéEsT D) Yygfé yrer
Juvenile delinquency is more phenomenon than
phenomenon.
(A) a rui‘al, an urban (B) arural, a tribal
(C) arural, a primitivé A an urban, a. rural
Amnit GHoorag Sswns HlapGeu Hlaspeneu eflL_.
A) @@ dymw, @ BT B) om dlymw, m u{rp{‘él.@lq_uﬁ]m
(C) @@ &lymo, @ LpeLeUTHS (D)  em psy, e Slymo
Uy ASHSO/19
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67.  The Percentage decadal growth of India's population from 1991 to 2001 was
@A) 23.86% | J 21.34% |
{C) -24.32% _ D) 19.76%

1991 &fi@pe 2001 cueny iHw wésd Qsrasuiiar uSsTaTH cuantés) sgeilgn

25 BOHSS- _ :
A) 23.86% (B) 21.34%
©) 24.32% D) 19.76%

68. ~The average annual exponential growth rate of India’s population in 2011 is

(A) 0.56% gf 1.76%
© 19% . D) 2.22%

2011-2y1b 2yaRmiqeDd, @g@m L& EET Glg.rrmuﬁlem &ljrrstﬂ au@pSr a@a;@’, GD cuen&s]

A Fid ————— 2y HID.
A) 0.56% B) 1.76%
© 1.9% . D) 2.22%

89. "The average number of daughters that would be born to a female, if she passed
through her lifetime conforming to the age spec:ﬁc fertility and mortality rates of a
given year" is called

(A) Gross Repz_'oduction' Rate d Net Reproduction Rate
(C) Total Fertility Rate . " (D) General Fertility Rate

@05 QUET, R UBLSHT aiwg F0ihs smeued wHmn GpLy efdssHer s liuemLuliao
sergyenl W eumpBraner LiEH Qe Heeuiler Fpreflung Quoih Auer Gbamgsaier

cTamantlSens ————— TR ILIHID. |
(A) Qurss s 2 nuss Asw - (B) @miy &m 2nusd a4z

(C) OQurss s@meuar alflsnd (D) Oung smeuer elldgb
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70.

71

72.

According to the census 2011, what was the total Fertility rate in India?

@& 21 | (B) 23
2.4 : - D) 2.0
2011- vésar Qzranss semsSig ey @bHuraitar Qurgsl) Qmi eﬁ’g,m GTEUGLIGTEY?
(A 21 ®) 2.3
©C 24 : D) 2.0 -

Which of the following is not Correct?
(A) India is the Second most populous country in the world
India's population is currently increasing rate of 18.4 million each year
(C) Asper the 2011 census, India’s population was 121.02 crore
(D) The Sex ratio recorded a slight increase from 933 in 2001 to 940 in 2011.

Yemeu(mLd snhmGetled Seupreang) erg)?
(&) cafld =fs wisar OsTes Qamer  prPsefle ShHur @reT e GLib
udGEma)

B) @sdwumeier sHCLTMSW WESET G]g,rrwa; cuetiés) efldlgin @suQGurr@ (i 18.4
Wleredlwieh emalled 2_dreng.

(C) 2011 wssdr Ugnenss samsCsBbemniy @bdurader Gwiss wasdr Agreans 121.02
Camg

@) uredar efs0 Lifay 2001-d 933e g 2011 -6 940 s sHm i 5hss6rers

Consider the following statements: -
Assertion (A) : Urbanisation is relatively great speed in India.

Reason(R) : Low per capita income of the people in India is attributed to the
rapid growth of population

(A) (A)istrue but (R) is false
(B) Both (A) and (R) are false
(C), Both (A) and (R) one true and (R) is the reason for (A)
Both (A) and (R) are true and (R) is not the correct reason for (A)

SpsairL cunrsA LG seaflssab.

Fo OO (A) : @pdwralled pagiowbrsa AHGeusions ure dpg.
smremd (R)  : @bdwurelled Genhs son eumwrad oemLuw wssdlan aanailsmns
2iflaflgg18 QsraCr aumdng.

| (A . ampm (A) &, .5rrr;rswr|.b (R) seum
B) epmA) LD@QJLD smyewrid {R) @oar(ib geum
(C) gapm (A) wpyb arrerd (R) @rerdin of (R) < aim ain.g)gj (A) ~a sflwrren smyesTid
%G

(D)  spm (A) wHmbd srresan (R) @qam@m &fl (R) eng sidmy (A)-en sflwmen esrrr;m‘rm
S|
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73.  Crude Birth Rate (CBR) =

w Total number of live births during a year
' Total mid year population

x1000

TO'[::;ll number of still births during a year
- Total midyear population

(B)

x1000

Total number of live births during a year

(C) x1000 .

~ Total population

D) Total number of hve. births during a year <1000
Total population of the year

us&u‘rqurg Gy edldlsn . _ '
a) 20 wGLEES tpps Gpbapsdian aarafises o

- (pL enwii Arss waser dgramns )

I-(B) (15 Su(HBE Sp&EToH Qs Sessalien samarllsas
QBL e Qurss wisd Cgrams:

© @ umLSHD NphS Ghbossaiien aanaisms <1000

T Orgs wese GsTeans: ‘

Y R0 wBLsHe Upss Gubamssddn aarmiisans %1000
Qs B WwEs Gerams -

%1000

74.  According to 2011 census, India’s sex ratio is
(A) 933 women for every 1000 men
B) 964 women for every 1000 men
940 women for every 1000 men

- (D) 984 women for every 1000 men

2011 inésaT Qs Tens Semisy iq dnig. GEHwreler Lnaten cflfzD
A) 1000 syersEsse 933 Quamsar :
B) 1000 T8 @ 964 Quistser

(©) 1000 oy @ 940 Quainsat

(D) 1000 eyeinsEnéE 984 Queainser
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75.

76.

When was India census Act enacted?

(A)

]

(©)
@)

Qndw wéser Ogrens samss(H FLL b erlumpg @wHoliucLg?

(A)
B
(©)
D)

1947
1948
1950

1951

1947
1948
1950

1951

The shift in population from the old balance to the new balance is known as

(A)
B)
(©)

Demographic distribution
Demographic composition

Demographic movement

J Demographic transition

D& ET Clg,rrms Loy sofleeWdnis UL sofoamu MLES BSiTey

- areTiL@ib.
A) wsser Qgrans Ldia]
(B) wsaser Agrens QameEliyy
(C) wsser Agrens CumsE
D)

waseT Agrens wrmur’ () Hlene
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77. Anomic_suicide 1s characterised By the
(A) State of sacrifice
d State of irritafi_on or disgust
(C) State of common cause

(D) State of detatchment of life

. Gppludel sHsTme agames poL Aupidang aamios GG
@A) Surs 2 iy - |
® o wip afssarers e
(C) Qungeuren amyemsSnEns o
62)) Gﬁ@@m&éosuﬁ mr@ésewa;

I78. What kind of class of people are created by ‘Polytheism’?

The class of philosophers (B) The class of farmers
w The class of priests - (D) The class.of industrialists

‘U SLOYET AsNETens’ TS UBSIITET DESMET 2 HAUNSEHaDE)?
A)  ssmueTelssT _ ®) Bawmasr
©€) Gmorisdr : _ D) Gsmfedurser

79. ‘Fetlshlsm 1s known as
(A) a form of way of hfe (B) aform of culture
(C) aform of philosophy .uf a form of religion

26il& CsmeTens eTeLig)
Q) @0 umsLTAT UTDEDS @mgg B) om fgwrear sarsamLb
(C) g dswrer 55D D) @m aemsurar gib
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80. Social thought essentially refers to
M The thought concerning the Social life and activities of man
(B) The thought concerning the Social Institutions of society
(C) The thought concerning of social culture of society

(D) The thought concerning of Social pattern of society

seps Spsamen QUilgb s @@dﬁ]@ﬂ@m@?

A)  welgeaflen GLIITQ}GI] wHNID Seugyerw QewdurBsamer Guflgb GG deamg)
B) swps Hopeuamsmer unH GHLINBEeang ‘

©) saps ueur e uph GHINBSH g

- (D) saps s@wLY oL uHH GHLHSang

81. is the stage in which people believe that “all phenomena are

produced by the immediate action of supernatural beings”.

J Theological stage
(B) Metaphysical stage
(C) Positive stage

(D) Modern stage

S@aisg HepaseErd Qupasisis o da@ausaflar (oL ang GswasarmGatw
2 meumsasLUUBHE DG eTar &ESET BOLWD Blae

Q) @aenllue fleae

B) Que sps Ham@urmer Cam_um_ @ Hlane

(C) ynQuwew Hee

(D) meSen Hleveo
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, 82. are those who own the means of prodﬁ_ction.
(A) Labourers S . M Capitalists
(C) Farmers ' (D) Landless Labourers
2 Huss eubél(gaebmamm wirt 2 Mepoings) Careardlmmirsen?
&) QsmPerari B wsorefse
(©) efeusmlser - D) devidar adfeusmdser
83. Inewtable increase in the proletenat 1s calle |
&) Industrialization Proletarlahzatmn
(C) - Urbanisation - (D) Explmtatmn
urCLrefl euiréegsledr g_;sﬁll"réa @Lq.u.lrrg 2iHaMlenu sreleummy amgéﬂs&rmmﬁ?
(A)  Gsmfnowwrge (B) umiLnref euirdswrged
(C) psrwwwLrss - . (D) asrer_e
84.  Which of the following statements is NOT true with Spencer’s Militant society?
(A) Militant society has rigid social classes | |
(B) Nhhtant society has centralised pattern of authonty and social control
M Human relatlonshlps in the militant society are contractual
(D) Militant society is characterised by vigorous discipline
Qemau(mid spmissei cu@uensldr @rrana sapasmst LHB SeiTers org?
(&)  @uramias sapEd evBonen Fups auELILE®eTs UararHerens) N
(B)  Sorrtepias  Fapsd  @WLLUGSSILLL DHEMT Bl EaeTu|Ld
sl QUum e uyb Qarareeng
(O @ureneu sapssdla o drear Lafls 2 meyser QULIKS Sty L6 L LG Teang)
D) @orame sepsid sHEDLITET @@&q&;@wn@ cuaFuMSS LT L&)
- ASHSO0/19 - 3
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85.

86.

87.

Which of the following statements is not associated with Weber’s Bureaucracy?
(A) Bureaucracy was its'own hierarchy of statuses

(B) Political neutrality is expected in bureaucracy

(C) Bureaucratic system is governed by division of labour

Bureaucracy focuses more on quantity rather than quality

Ylereu(mid sapmissafier Qeuiflen Sflsmy auisssgLer QerLmddonsg) erg)?

Q)  odsmreuissd g Qs sEHloasalar Lrauflas Hawamw @a;&m@dm@
B)  @flary aurssid 2irslwe Ol erdiunisdpg

(C)  =fsmy auiss enp Couamer LEGLL| wpenpwimed HlicudlésiuBEHng

D). =dsny arissb srsms oL aemamd -  Sfswns uTisdps

The concept of ‘Anomie’ was introduced to sociology by
(A) August Comte ' - (B) _,Max Weber
(C) Karl Marx Emile Durkheim

“@pAlwunp Heae” aem smEms Fapseiuese a@@&ﬁu@g};ﬁmmr’r
A)  <ysevl smbl ' (B) Cusenv Qeuuir

(C) smie &L D) @ewe Lidb

The organisational structure which has no fixed hierarchy of officials and no legal

rules to govern the organisation is derived from authority.
(A) , Traditional ; (B) Rational - Legal '
Charismatic : (D) Logico

- ogeeisafia Hoowrar ugafos How Qaoars wHnw Hpcuasos Hiudss s

eldlger  @oers  siLewwl]  Heow S srygslenmed
2 (HeunssLiuBh&msg).

(A) umppufw B) ugssdey sl

(C) searsésy I D) ersCar
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88, . _ involves future goals determined by cognitive standards.

(A) intellectual action o (B) expressive action-

(C) spiritual action ‘ w instrumental action

Epsar_meselid  eBs  amsurar  Qsud | afisme ggﬁleq&rrr'r‘_ﬁjg BlesGseaner

Blremrullédlenme) ? _ _
A)  oifleyemipg Gewe ; (B) Gaefiiupid Aswie

(C) oyenbsQewe : D) swmew srflwwnen Qewied

89. The first organisation which gave birth to Jharkhand movement was
(A) Kisan Sabha : '
(B) Adibasi Mahasabha
I Chotanagpur Unnati Samaj
o) Chotanagpﬁr Caj:holic sabha

QST Q) WESLD 2. (FeUNTeUEHS STTGRTIONGT PSR é{mmuq eTs?
(A) Sferérsur |
B Hund sur

(C) GomlLmprésuf 2 eram iy SLrg

D) QsmlLmprsyf sGsmellés sun

90. - is a collective effort to promote or to resist change.
(A)  social control ‘ (B) social change
social movement - (D) social process

(6 LOTHPSS més@aﬁmug,ﬁ)@a;rr S0y soL. QeespCsr & s Qalnb wwpél

—ereTun(Hid. : :
A) s sLELLTH ' B) smpsiwmHnd
(C)  sups Quissd - D) saps Q&u.s;burrfh@ '
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91.

92.

93.

The dalits demanded a separate electorate in the year
(A) 1946 (B) 1935
1930 (D) 1950

5555 Enasran gafl Caiga Cauar@w arar Carfléms mauss pa(H
(A) 1946 ' (B) 1935

(C) 1930 (D) 1950

Who coined the term “Harijans” — ‘Children of God’?

M Mahatma Gandhi

(B) Dr. Ambedkar
(C) Jawaharlal Nehru
(D) Vallabai Patel

anfigen (sLayeflar Ghassd) e Qerdme o meursdweaui wri?
(A) wargworsTH

B) LmeLiT obCugsTT

©C) geuaniere Crm

D) eaeeouml uGLe

According sociologists, social movements constitute the form of
behaviour.

collective (B) individualistic

(C) rational (D) irrational

o spsdueisailer smEGLUG, &ups QUESHSET CTHS UDSWTRT BHLSHSOW

&L ansng,)
Q) enlss (B) seaflewwrer
©) uessdeurear D) uessdleupD
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94. - Who is the chief leader of Chipko Movement?
(A) Baba Amte
(B) Medha Patkar

M Gowra Devi

(D) Baba Ramdev

UCsT QWESSH ST HENeOEUIT WITT?
A)  urur 0wGs

(B) Cuwsrulsm

(C)  Qsarym Gzell

D) wmurgmb Cgeu

95. Chipko Movement was started in the year

g (B) 1980
(C) 1975 : ' .. D 1971

ALCHET QUISSLD 6THS e (H Sleums Ll L g|?
(A) 1973 (B) 1980
(C) 1975 @197

96. Dravida Munnetra Kazhagam was started in the year

(A) 1961 (B) 1947

M 1949 D) 1969

- Slprefl. penCGarmmné spaid C(Fm_mislul L e og)?
(A) 1961 . uB). 1947
(C) 1949 D) 1969
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97.

98.

99.

Mention the total number of members in the national commission for other
Backward class?

(A) 6 ' B) 3

© 8 o 4

Caélw @y IHUESsLULL Ymamussla Cwrss e pulamseen aaramfléms erauauare?
A) 6 B) 3
€ 8 D) 4

Which of the following social movements fight against the use of polythene?
(A) Chipko movement

(B) Save Silent Valley

(C) . Narmada Bachao Andolan

J Jhola Aandolan

S1pau(mHid saps @) WsSRISERET LTeSSan LWL g HE s CUTyma wis) 6T8?
A4) AuCsr @Méfﬁ&;lb

B) Cocu wowen Gouell

(C) pirwsr uECer SHCHTwET

(D) Cgreor 2ipCameaent

-The SNDP movement was started in

(A) Tamilnadu (B) o Andrapradesh
(C) Karnataka Kerala
6Ta.6Tém. Ig..19. @SS & S TDINESIULL ).
A slpsTEH B) sHNCsed
©C) sipT_sT D) Csyerm
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100. When was National Commission for other Backward Class came into effect from?
' 14th August 1993 (B) 20t Mdy 1995 |
(C)  18% June 1990 (D) 14t August 2003

GCadw Qs 9hLESsLLLL gemamib erliGung e ep@plussiulLg?
(A)  sevl 14,1983 .- (B) Gw20,1995
(C)  m9am 18,1990 | : D) yscvr. 14,2003

101. Who among the following considered “Socwty is fundamentally dynamlc not sta'tlc”‘7
(A) Auguste Comte - : M Karl Marx
(C) Herbert Spencer | (D) Emile Durkhiem

Spsam_euiaaiies “supsd sguumLle Hlaowraig oo LOMP&FIGLIZ" GTa H(HgLIeuT

WImiT? .
A)  sysev. Gambi B) snid wriden

©) Qaprui swGuemevi ©) @Qewd Libd

102. Who among the following said “Westernisatign is ethically neutral”?
" (A)  Yogendra Singh M.N. Srinivas |
(C) D.N. Majumdar (D) G.S. Ghurye

GemeupUsusEReT “Cudasiiu L’DII.ILDTI"Q';G'D 2pOpduller swflenaiuimang)” erend g Biieu wrF?
(A) QurGsidy &k ‘ {(B) M.N. &afleuneiv
(C) . D.N. waibgr - (D) G.S.&8r '

103. Cultural change is broader than
(A) Economic change : d Social change
(C) Political change (D) Cultural change

SEOTEFFMIY Lnng');n‘ej',mg, &N LITHS @@g-&@maﬁn_mma@ér arg) aranm GHLAHE?

(A) ~ Qungmerngmy ipTHMD (B) saps wmppbd
(O siwfwe wrpmd | D) serden wrHmid
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104.

. 106.

Which of the following does not come under cyclical theories of social change?

(&)
B)
©

The destiny of Civilisations
Challenge and Response
Sensate and ideational culture

Mechanical and Organic Solidarity

&paa_meusalle) saps IrHosd ,l_i)asrrm-a;lc.pgb_#l Canl o _wer S1p cupnsg) e7g?

(&)
B
©
(D)

& Qi_shg.erl o0 HeSlenanGeaganciv
Caaesid e Quevurera)

QeanGaL. el gy Grsened EFT
Quésanefésadd siem’ gy ierails sredlLmiy.

Consider the following statements :

I
II.
III.
IV.

4

(B)
©
D)

Culture gives speed and direction to the social change

Culture influences the direction and character of technological change
All cultural changes are social changes

Cultural factors constitute yet another source of social change

Statements I, II, IV are correct

Statements I, ITI, IV are correct

All the statements are correct

Statements II, III are incorrect .

19 mid aunsSinisemer sauaflss

L
II.
I
IV' o
(A)
(B)

©)
D)

LieRrLnQ spa orppsHpsres Hasamwuw, Gaussamgs|b F(HSns)
uektun () GsmPemi_L: wrhnsAnsairan Hamsmuujib, LUaTaLLLh Frasd Celdng
Simandg UaTUTL(H ombokis@sGLo Faps WOTHORIGETGTER

uestur_(R& snyesilEet saps wnmpnsAnsnes Guanblomm ppagans aa&rrl;né@éléimw

I, H wpmn IV ansdlwuiisdr sMwureane
L, III wpmid IV eursdwisisdr sfwrarena
Sleanansg cursfwtisenGo sflurarae ‘

IT wphmib 111 cursSukisar seuprasana
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106. Division of Labour givihg rise to kind of Solidarity called
(A) Mechanical Solidarity
(B)  Social Solidarity
w Organic Solidarity
(D) Communal Solidarity

Geuenay LIGLILILPEND 6THS eUESWITEN aat;Gan@ea)muQnLLq_ﬁ)@ aulfl eu@sSlemmg)?
@A) Quidr s QLrmenwiium

(B) e&aps s QLmmenwiun(

©) 2ulflar s QLrmenwliun

D) - spsmu s_CEALTmHewLLILITH

107. Which of the following is correctly matched? :
(A) The Destiny of Civilisations —  Arnold Toynbee

(B) Challenge and Response —  Oswald Spengler
J) Sensate and ideational culture —  Pitirim sorokin
(D) - Organic and Mechanical Solidarity —  Talcott parsons

Speumeuamaunmiar sflwrs QUTmHHSIeUS) 6T8)?

A) & Qrevged U HeleeCGaseav - Syfemel Lmufemd
(B) Coeens e QrevLimesten = yeveurmel ev@ueTSeIT
(C) QeeanCsl e gy Cuganed seoe&i - QLA CenGrrdlen

D) yrarals e Qussreallsd gredlLmily. LTSI LIMTEFTEnen

108. Which of the following is a cultural factor of social change?
(A) _ Fertility (B) Monsoon failures

g/ Nuclear family (D) Technology

SLpeumeuaTeuDMIET Fps MHNSHDeTer LaTUT(Hé STrewtl erg?
A)  AQooy B) umeusTed QUTLIGSED
(C) salsghwun (D) Qsmfed mub
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109. The term ‘caste’ is derived from
M Spanish and Portuguese
(B) Laﬁn and Greek
(C) Hebrew and Jewish’

(D Greek and Hebrew

‘Caste’ eremp eunigeng crﬂaSi@,r_'r@ Cgranplug
(A)  doumafds whmib Gurigg i

(B) wssen opmb HCTESD

€  afiiimes whgid goudiay

D) ACyasasbd wHmb aublaghey

110. Which state'ment; is closely related to definition of ‘Absclute Poverty’
M a state in which the individual lacks the resources necessary for subsistence
(B) a state in which the individual lacks education for his better life
- (C) a state in which the individual lacks health and sanitation for his life

(D) a state 1s which individual lacks money for his life

apHdiQITe GFpawd@ Qurrer cllard&sid Srésniq L sapmy 6T
(A) sl BUf QUMPEISDHE, UTPAITSATLLOMOR BHHEGW Hlene
(B) sasfl puflen Bevey umpaiing, soullbn Hlene

©) s&fl BuBESG B, FETSTTAPL Gowns Hae
D) senaumpaile, gafl BLMHES Lewileens Hlave
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111. Where was the “Estate System” as a kind of stratification existed?

J Europe-

(B) Latin America
(C) Asia

(D) Africa

‘aravGLL sty aramp auaswrar il Afley eriig peLgpaniie QnHss?
A) gCymuur |

B) «sder 2QwAGST

©) <Aur

D) udissr

" 112. Social classes are

Closed groups -

d Open groups

(C) Endogamous groups

(D) Occupational groups

FPS QUGLILSH —————— D GID.
Q) sflwLsss GWaser

B) g,a)i_uﬁlebmn'@@éasﬁ

© upwens §5Lu¢m Gpsaa

D)  Qsmflp Gpsadr
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113.

114.

115.

Which of the following statements is not associated with social stratification?
w Social stratification discourages hard work

(B)  Social stratification ensures circulation of elites

(C) Social stratification prevents waste of resources

(D} Social stratification acts as a means of social control

Epaumd ambnsseio saps sru9fCar® Asm_midorss 6rg?

| &) sops gTL ey su.an 2 e Wearaunhs daldng

I(B) saps grudifla) ewir ga sphiaw 2 nHLuBSsEns
(C) seps sylGfley euamiiser elaimeusns sHEEDS)

D) seps syudile) saps & HULT g @ euflurs Qs ns

Which of the following is not a characteristics of social stratification?
(A) Social stratification is ubiquitous
(B) Social stratification is consequential
M Social stratification is uniform
(D)  Social stratification is quite old

ﬁs&r@@mmmﬁ)gm saps srO9fellen LT s ogl?
A) Fops srLGfey Ligeuwrs sreTLILBE Dy

B)  sews gridfle sllemaaiser sieflEassng gl

(C) | sops L9y G wrdRwureng '

D) swps g,mjlﬁlrﬂsﬁ QUETE LILDEHLDWHTEIZ

The social mobility refers to the movement of an individual or people or groups from
one status to another is called

(A) Horizontal mobility - M Vertical mobility

(C) - Structural mobility (D) Inter-generational mobility

@ sefluaflgan g WEET DG GUWESET o SEHmaulldmbs whHbpreamnés

" pardleann saps HeveGLwie ———— e, |
A dafpee Guwiiey (B) Hfiitey Hlanew QUi
© sy fleeGuuiiey D) seegpep¥ior Quwie
45 ~ ASHSO/19
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116. Sanskritization denotes the process of

- {A) horizontal mobility (B) inter generational mobility
M ~upward mobility (D) downward mobility '
5Loduaﬁl@g,$mmng,eb T — QEwihLTEI®S @@ﬁ&@ﬁeﬁggj .
(A) a%)mr_m.r'_r_ BEHTE - (B) gmm@mm&@&@cm_@wtu 6o Ba&Te
(C) CGuatrrédw paie, o ' D) &pCprédw ‘masrreq

117. Match List I with List II and select the correct answer using the codes given below
List I Last I '

(a) Satyashodak Samaj 1. - 1897
(b) Ramakrishna Mission 2. 1875
(©) Aryasamaj = 8. 1820
(dy Brahma .S'amaj_ | 4. 1873 -

@ &  © @

@A) 4 2 8 1
S ® 2 1 4 3
(C) 4 2 1 3
- J 4 1 2 3

L gued [ vt IL o) 6 AurpgS g@@ G]esn@a;a;uuL_@a'raT an@urﬁ]aﬁ@g@ EFIﬂUJITGﬁT

_aﬁ]eu)l_emu_l & TE0RTE ©

el igued I - e I
(a) =5Cungs Foms " 1. 1897
() TmodlHeiyertr 1Blager 2. 1875
© e FLDTEY _ 3. 1820
(d) Ygbw swrsy ' 4 187_3'
@ ® © @
@ 4 2 3 1
B 2 1 4 3
© 4 2 1 3.
® 4 1 2 3.
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118

119.

Read the following statements and choose the correct answer :
Statements : '
1.  Customs are relatively durable.

2. All customs are not irrational.

(A) 1%tis True 27415 not True

M Both aré True

(C) Bothare not True
(D) 2rdis True and 1%ti1s ‘not True

. &uperen sapmiGereT Lig g sAwnan e e Qgiey Qs :

SaDOISET

L UWPEs PESLSET BTeremunans.

2. srdsean.ugpéss CUPSSRBE@HD UGSSHIADONS D,
(A) s e a@Tmd §IETLTeS 2 aT@ILDa

B) QreanPw e ameow ’

C) @ran(pb e amewwoHe

D) @remaus 2 @ WHHID WPSLTCIS 2 ERTEOEIHE

“When a class 1s some what strictly hereditary, we may cali it a caste” said by
(A) Majimdar (B) Maclver
M C.H. Cooley (D) AW.Green

‘@@ QG STy IUTeT LFDLGFUTaSTE GHUues 518 en Kb &mée’aé](ﬁmrn.b” eTa

Qanememeur
(A} wgbgmT : - (B) mrréggsur'r
© fas md : ©) @Sy, dfcr
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120. Consider the following statements :
‘ "I Sociology is a pure science _
. II.  Sociology 1s a special social science . -
III. Sociology is an abstract science
" IV. Sociology is an empiricél science-
M Statements I, ITI, IV are correct - _
(B) Statements III and IV are incorrect

(C) All the statements are correct
(D) Statementsil, III and I are incorrect

WGleareu (mLb FDDIGHEDET euehlés: |
L gepaelle) e au_ﬁ]sq Gubun’_{ élg‘)lgﬁlué)
I sppseliwed g &poy sps oiflefluih
IIL I&@.pseﬁlu.le‘a 30 @urr@a%rmw SifleSiud
IV.  spsedud g Qeudpon sideliud
@ LI IV sppéssr shunerees
® LIV _aau.g')gué;a;sif FEUHTEHEOEU
(C) Siwensg smbnsertw sfiurameney
@ IL I wpmid I sapméaet seuprareney |

- 121. The sociological methodology, advocated by Sorokin is know.n as
(A) Internal approach - '
(B) External approach
(Cy» Experimental approach
} Integral approach

GenGrrdarmed URBgIer Gelnutiu’ L sapseiivic pennenLo — aremLILI(HiD.
@) elup sigiEpeop |
(B)  Qouelliiyp cigmigpen

(O Gengepeuiied wgLiien_uleomen Q@@@mp
D) . o érar sl @D
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122. One of the main causes for sociology being given the highest place in the series of

social sciences by Auguste Comte was
(A) Sociology as an independent science
(B) Sociology as a science of social institutions

{C) Sociology as a science of social relations

ﬂ Sociclogy as a science of social reconstruction

sps MeflwdsEnssTe g,umﬁlm&u.@lsb gEavl. Cambumed Fepsahue Guamrer @)L sdled
neuSSUUL L SDETen pSElL STTemThISEHET samn) |

(A)  sepsailue @@ saralzmsuirer siblefud

B) swsalwud sws PreamseErssTar SiHeflued

O) sppailud sups Qs iyseErssrer siflelluc

o) spaeflued et 2 mreunéssdparar ibleflue

128. —————— deals with the quantity and quality of population.
(A)  Social control ‘
d Social morphology
(C) Social pathology
D) Soqial physiology

10és&eT ABTEnaUAET SIETE) IDHMILD FIHEIL G PSLITETEUS)
A) sppss_Gour® |
(B soos i@u%&ﬂmsb
©) saps G‘r_rﬁruﬁlu_la'}
D) saps Quidlud

p " ' 49 | ASHSO0/19
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124. Social interaction is made possible because

(A) Social interaction

d Mutual awareness

(C) Social progress

(D) Social solidarity

Fops QBT ETSEWIDTEISDHTET HTTERTLD
A) sops ngrr;_frq‘

@) Liyeotiy caitilieaj

©)  stps parGamppid

D) sews sl ALm@ewiur®

125. _ Industrial sociology concentrates to the
(A) -Social customs and values
(B) Religious activities of the people
d Economic units and their social environment

(D) Economic and social law

QAzmfler sppaefiume eHsILOSS S
Q) s aupssmser HMID WHUEHSET
(B) &aps wsid sbUBSLILLL G&usbu_rr@a;'eh
(©) Qurr@a.mg,rrly G LMD Seursaflen s GpHlaa

(D) Q_u THETISMFLD LOHMILD &FPS FL_L LD
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126. Who among the following said, “The subject-matter of sociology is the interaction of

human minds”?

(A) Alex Inkeles (B) Morris Ginsberg

'« L.T. Hobhouse (D) H.P. Fairchild

127.

Eperauaisailer “wealls carantseilear 2an mL G &@5@9ua§]s&rlum_u Qummer” erend

eﬁﬂu_lmfr wm?
A) Qs @eaddan (B) wrflev dlemeoLiis

(C) L.T.anmisaed (D) H.P.Gurensea.

Who among the following said “General sociology is on the whole theory of human

~ living together”? -
(A) Wright Mills & Ferdinand Tonnies
(C) H.M. Johnson (D) Kimball Young

MleneupLieuirsefics “Gurg sepseflud eeamg wafly sl @ @n@aﬂeﬁ Garlun(hsafledy g
2 cangy” @ad sdlweuit w2 l' o

(A) ol Seoew ' - B) Quinig.ermest |L_reten

(©) H.M.grengen D) Aibumed wk

128. Who said ‘History is past sociology, and sociology is present History?

(A) Robert Bierstedit _(B) Aristotle
G.E. Howard (D} H.T.Mazumdar

SUTEIMT GTETUS SLBS &M Fapsb udPMwg eramd Fapseiliued eraug BSPETD cuyeTm
GremmyLh S dlwieuT wmi? '

(A it QUARQLL. (B efeLmge

(C) G.E. apauni®y @) H.T. wgsi
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129. . Which one of the following is not a problem of Tribals? |
(A Illiteracy (B) Drugaddiction’
~{(C) Alcoholism . - ) M Prostitution

Spaem_meusene waeemp srhullantiarn yssmanioarss.
4)  soallwbelsmeno _ B) Gurasl Lipésd
(©) - wglupssd . D) Oussmgn

130. Malphariya Tribal mdvement was‘émerged in the state of
(A) Bihar | ' " (® Andhra pradesh
(C) Arunaphal-prédesh d West Bengal
3 LDG-OLJTI‘I‘ﬂILLII'I‘ weaaMp B Guis 2 mesmer mrr.jﬁléz.b'
@  Set - - ®) =587 rGsst>
© | a@wrraai ﬁlu@g&m, | _ (D)I_ Gm;ijé; GURIBTETLD

-

L]

131. “Laissaz. fa1re policy Whlch was helpful for Tnbals to keep their Tradmonal

customs is contributed by _
(A) Central Government o (B) State Government

(©) Kingdom : | d British Government

LOGHEOGUTLD gr'rﬁuﬁ]mr‘r Serfiselldn UpMOWITGT LIPSEAIESHEMET F66 Mmaubgis Qararer
o gafluins “Cevissnen Cui” e Qsmiramsew auphifliig).
(A) Imgﬁlm BT & : B) mn;ﬁlcq SITG

© ewmsmd D) R 1 6o i
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132,

133.

134,

Which is not a solution for Tribal problems?
(A) Assimilation . (B) Isolation
Administration ' (D) Integration

waanp grifafds Grismmsenhd Sianeiss ag?
(A) eafluCGurgad (B) - sl iuBSgizeD .

(C) Hireunad Qs ' M) eewdmeariy

Ll

"Sex and Temperament in primitive societies”—a study of News Guinea tribal life by
(A) A.R.Desai (B) H.T. Mazumdar

(C)  Pitrim Sorakin M Margaret Mead -

fsne sapasied umdend wHHID .9.@5 snips Gewdur@sdr eranp denur UG, ulent
Spuiene BLr-guwieui wmi? ,

(A AR.Cgerid B) H.T. vgfogat

©€) QLD Qenréden - (D) wrEQgl Qo

The Materials culture refers to the
(A)  Attitudes
(B) Thinking |
(C)  Imaginary perception
All visible goods

QueTert LU Tersd EHlEHng?
(A)  cremeRTiuEeT |

B) Cunrélsse

©C) shumen ereimeTRISET

(D)  sarseTId UTTESE frlg s SE@BHL AUTEGHL S
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135. Which is the year of launching RFLP (Rural Functional Literacy Programme)
(A) 1976 May
(B) 1996 May

d 1986 May

(D) 1966 May

b <per(® RFLP L b iflpsiuBssiulLg?
(A) 1976 May

(B) 1996 May
(C) 1986 May -
(D) 1966 May

136. Which one of the following area is related tb cyclical unemployment?
(A) agricultural activities
(B) industrial activities

(C) technological activities.

J trade activities

spH&S Ceuemanuianenio eps gienpCwn® Qg,m_r'rusm_u;@?
Q) eleusmug AzmPe gming Qewun |

(B) Gsmfinsrees Gzmfle sribg Geweaur(
(©) Qsmfldmrus @g,n@sh s QewuouT®

D) aueflss ampbled smibg Qeweum(
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137. Which one of the following is the Ameliorative problems in the society?

ﬁ poverty

(B) floods
(C) famines

(D) alcoholism

&G QsrPssLuL Perarancuseaiics Qabawliupssseyw supals Créemen arg)?

(A)  apento

® Qo
© ugsed

D)  @uGurms

138. “Tribal societies posses their own laws on status rights rather than the contractual
rights” said by
JA Hendry Maine
(B) Lewis Morgan
(C) Gluckman
(D) M.N. Srinivas

‘wereeump grwlent euisErEGEsdn AsTbgors QUUBS s_rﬁmmsaﬂé@l SIBSeOG!
o fNeno gLl L_isener Qupgetetent aen sadicui |

(A) Qapend) Quowien

(B) a6 writasem

(© SeréCuwar

(D) - erib.erér. hefleuma
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_ ILO convention 182 = _ _
'(B) U.N. convention on the Rights of the Childs
A{C) . I_LO convention 29 _

| (D). ILO convention 138 -

139, yt was the name of the 1nternat10nal law of “worst forms of child labour

Bleeyd Guoremen GREDSS Glg,rrg@e)rrerrrrasaﬂm ﬂma}mu_l ug),rﬁlu_l UG!!TR!TITL@EF &I_I_‘Q',‘éf)]GUI'
QU eTebren? :

- (A)  ILOeflen 182aug Lﬁhﬂsq_
B) gm.pr e Grhassensarar e Ramwuien Gfla
(C) ILO ofen 29 augy Gifley
D) ILO éfier 138 aug Giley

.. 140. Social probleni ‘is always and - — for it is regarded as
pathological. L
(A) integrating and organising J disintegrating and disorganising
(C) unity and diversity (D) satisfaction and disturbance
sepsUdrésanan eTGUTEID WwHYD ————— Crmidarer SO G <4GELD.

@ @@mélsmwnggw wHMD WHULBSS

(B) @@mﬁmmaﬂmmﬁg WHMID (ym),ryuuGg,guuu_rrg
©)  epmeno wpmd Caspmeo
D) Hovd vppd Bel iy

-

141." Which one is Universal social problem? -
(A) Dlvorce o (B) Suicide
(C) Juvenile delmquency ) Crime

2 esermed FapsL) ITEFMman eTgI? |
Q) Aeunspsm B) spQarew
©) gemsgdpeuna - - (D) eoHpd
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142. Which of the following is a white collar erime?
(A) Stealing
ﬁ Tllegal sale of alcohol
(C) Burglary
(D) Dacoity

Epagaaapner ag GoGuni Ghob
@ fobse |

B) &L 38bE ypbuns sTgTwd eStHma

(C) Qanerener )

D) &_@ Qamertener

143. Which of the following is not a economic cause of be’ggarjr?
(A) Lucrate business - , (y Inﬁrmity
(C) Poverty . ) (D) Loss of employment'

EpaumaraneupmyeT 95ensQupsseiar QurmEnsTy STy HOLNSS 617

(A)  eomusjorer Gsmied . (B) @oouymLeawb
(C aumew D) Gaeme @pdiy

144, ' has the largest number of child workers in the warld
(A) ~ China -~ | - (B) Brazil

G India (D) South Africa

2 0fiGaCL 2ifls ranefismsle @wbms AsmBenerisd = drarg
(A) Ser . . (B) SGrfle
© @pdur _ D) Qs 1GRGaT

o] 57
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145. According to the élassification of Fuller and Myers, which of the following is not a

type of social problems
(A) Physical problems (B) Ameliorative problems
(C) Moral problems : \M Cultural problems

LT HMID ewwT euamsliu@dsearn Ul Spsar_meusaile sups Wrésmearser auamsude

UITSG
“(A) oL dwe Yrssmanser B) SissiuLsamiquw Grssmanser | '
(C) Qmilenips Grssemenser (D)  uwewmum_® Wrseamanser

146. Right to Information Act was passed in
&) 2001 ' b 2005
(C) 2003 (D) 2004

saeud 2 fenog &L @uppiul L e
(A) 2001 (B) 2005
@ 2008 .. ' (D) 2004

147. Corruption is “the use of public office for private gain” definition contributed by
(A) United Nations : (B) World Health Organization
(©) | International Court of Justice d World Bank

@Eped aarug “‘safllulL wsTUSHEsTS QUIgISs®D QaDESHS LIWETUHSSIS®”

UETWIEHDEWI cuULPBIS WIS
(A) 25 BpTHsEr iU B) 2 o5 sstzTy HlmeueTd

(C) o o8 BHweamid D) 2 @& eumd
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- -148. Competition is the most fundamental form of
N (A)  Social Violence ' (B) Social Conflict
o M Social Struggle | _ (D) Social progress

GuM 96T iy ULL. Quend: TGRS
(A) - seps Qarfenn | B) saps wramur®

(C) &eps Gumgm_Lib ) seps apemGanhmd -

149. When does the direct Socialisation begin?
() Before birth |
M after birth
(C) from childhood
(D) After adolecence .

" GpflenL. sgpawwwIss euGuNg Asr_iigHns |
@)  Gpodpe e
('B) - BpudpE Ger
© BGRbos LGab (pge
@ e LpesShe Ine

150. 'ych of the fqllowing year the civil Disobedience movement was started?
) 1930 ' : - (B) 1934
© 1940 D). 1941

s iy Quisshd synddssiu’ e @ ag?
(A) 1930 . (B) . 1934
(© 1940 ' D) 1941
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151, ' 1s a form of co-operation which is achieved after conflict.

(A) Primary co-operation M Accommodation

(C) Differentiated co-operation (D) Assimilation
preTur_ign@ WUn@ iemLwb s Hineller Hlane GTGTLILI(RID.
B) s Hore Gy B) @wsaiBse

©) CapulL sl @Gney (D) semowLISD

152. The socialisation stage mostly starts from the fourth year of a child is called
(A) The Oral stage
(B) The Anal stage

i w ' The Oedipal stage
(D) The Moral stage

R Ghosuiar BTEGMD e DTDULTGD FUPSLWLLTSH bl
ere U (L. ‘

A) & e avGLg

B) & o Gy

©€) & oqueabLy

(D) & wrre wCLgy

153. “The following of jealousy towards the moth and love towards the father” is called
(A)  Oedipus complex j Electra complex

(C) Neutral complex - (D) Logico complex

Sjbwredtd Qurprewwb, SiuredLd ayb Qera 2 awie| BHlee

craru(HID.
(A) euULED STDLIETSE (B) erevs_gm smibLieT&EL
(C) Hluyl e smblieTéav (D) erHCar smblieTéev g
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154.

155.

156,

Economic competition is witnessed in the process of
w Production, Consumption and distribution

(B) ‘Promotion of ability

- (C) Promotion of capacity

(D) Promotion of skills

QuingerTsmy GI_IIJ'TI'_Lq.GB)LI.I 2 pHOsLILL BePLPOD LG
(A) aﬂat-is@- BI5i50 wHpd ullibselssd

B  Spowvev sassLUDSHEO |

©) vegpren sassILPEEEH

D) Caumasdpoer enssiL@s5Ee

“Man is social Animal” statement given by
(A) Auguste Comte - - (B) Giddings

(C) Herbert Spencer ' M Aristotle

“weflger gm sepa Gy’ erénm sapem sBlwueuit WTi?
(A) %a;c.;iuL Cambt_ ” B) &Alghen .
C) GQapruf’ evQuensgit - D) ofevimqd

Which one of the following is Disassociative Social Process
(A) Accommodation. (B) Assimiliation

V Conflict (D) Co-operation

supasang 9Ngg easdlay saps Qeuduni aama?
B  @asapssd B geapGsise
©)  @pramun( D) & Bpey
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157. -Which'among the following statements 1s not assoctated with child soctalisation?
(A) Chald SociaiiSation moulds basic valﬁes
d - Child Sbcialisation changes overt behaviour
(C) Child Socialisation is more generalised

| D) Child Socialisation highlights the formal aspects

Seimeu (b sapp&EaTe) GRHHS &@pamu_rmrrg,cmrr(ﬂ Glg,rn_mﬁlmeoﬂggj aTg)?
B  Gubos &(l,o&mumngsu SiqLumL fplwiisemar G:.uq.suem.oaél ;ng
(B) ©GYHMms FPSLWIWLISED Qmaﬂuuu.‘r_r.l_g,gmg,@u.l IO mE)
.. C) BYbes swsLLLIGH Hs QuIgIraE
D) GRE®S SAPSDLILTHD @D Sibshismar perallaaliLbs5EH0s

158. Who is the father of “Looking — Glass Se]f—Theqry?'?
(A) Auguste Comte B) Sorokin_
\A CH. Cooley -~ . (D) Aristotle

“Looking — Glass Self Theory” erém Camlum’ig e ghang wimi?
(A)  eysevr Gambl B) Qsmyrsdar

(C)  C.H. smsll . ’ | —- D) oflevLmiiga

159. The therapy which is used for persons whose deviant behaviour is a'_ reaction to

unfavourable life conditions is ———— therapy.
(A) Reality | . (B) Activity
(© Behaviowr = G’ Milieu

. FTHELHM a_lrrg_aé;em# Gwifmasard  GHo Qswésafla mEHULL BUTSERESTS

sweLRSSLLHL Hsms aperp ———— Adldmes gper Y
(A) &siurmm‘rﬁﬁm ' ’ _ - (B Qewaumlf

©) . pLp®s . @) spmiyp
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160. The Largeét form of urban life today 1s represented by

(A) Metropolis - _ ' (B) Cosmopolitan
Me‘galopolis _ (D) Merchanto

@enpenay 2 _drer &L Gl 5&qmw@a§l@—+ 25 agﬁlu_u'_:u @é];pgi.

(A) QOuw’ Gyrumedlan - _ (B) -snavCumuredi_en

(O  GuarGanGunsiicy _ - . (D) QwiserGLmr:

161. Which among the following is not a characteristic of urbanism?

() Individualism . & Social intolerance

(C) Spatial segregation . (D) Social Mobility

\S\6tmeupeuaTouD Qe ﬁasusun@émﬁ Uil LaTUIRONTSS 6TEI?

(A) SedSgenenLD (B) &@pséﬁaqgge‘w@mmm Hlenev

O =apsl Ifeyser ' D) saps Heraluuiey

162. Which of the folloﬁing causes of Alcoholism is not correct?
“ (A) Urb.anisétioﬁ and induétrialisation :
.(B) Occupational factors .
W Lack of educational facilities

D) ' Drinking for busginess reasons

s GllILpsssS Demar snrentisaild gapnens) g ? ;
(A) ‘I_T)ISIJ'LDUJLD.IT‘Q')@ mﬁ)gtﬁ Gsmfldiowiongd
B® Qs Nenanenf) '
_‘..(C) - & ausdaeT @enpey
D)  -Awruny fHwuns Gy ss
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163.

164.

165.

Assertion (A): The city is the most _powerfui factor in the development of human

civilisation.

Reason (R) : City dwellers are mndividualistic, Selﬁsh,' rationa_listic and "

calculative.

(A) - (A) is true, (R) is false

‘(B) .(A)isfalse, (R)is true

(C) Both (A) and (R) are true, and (R) i1s the correct explanation of (A)
Both (A) and.(R) are true and (R) is not the correct explanation of (A)

sy (A) : perd weilg Hrafs euariEdEd G Lﬁia;éélmﬁg ei.qrru'_i Luns emwdlpg).

smyed (R) :  pay waser gaflsgieuaunduns, a’.u_lgeoa_[rrﬁu_ln'a u@ggﬁmnsﬂum Lo
_ g,msu‘ra:sun‘é,lu_ma dlenmia@geu.

(A) (A sf gamd (R) geuny

(B) A soug emer (B) s _

(©) (A ovpmid (R) @gamdio &40, Goaubd (R) eremg) (A)-efine sfluirer cflerésin -

D) @A) mg‘_;gm_(R) @t;rsa'ur@l.b s, é@,md: R) aramg) (A)-eflidg sfuman eflansaid e

City environment also tempts social parasites and public cheats to plan It s known
as

(A) alienated ' g J organised beggary

(C©) lossof commumty _ ' (D) social evil

S G vWES FapsEmS SGRTI QINPSED LODIMILD Qurg: wEsmar GLOTHMIGE eTemLig) BETE
Geilar @ LGS, aaLg) Tess GHGEL? | |

Q) seflevludsssed - - B peptulssuul L 95ms

©)  spsmu oy D) seps Cpri (Gop)

Assertion (A) :  45% of the urban population is inereasing due to migration. |
Reason (R}  : - The pull factor of better job opportunities
(A) is true (R) is false

Both (A) and (R) are true and (R) is correct explanation of (A)
(C) (A)is false (R) is true

(D) . Both (A) and (R) are true but (R) is not the correct explanation of (A)

apm (A)  : pEIIYD wssaOsT®S a@a;rﬂuug.gp@ %G&qu.m@j 45% @l_u@uu.lrru (_I,DGD@LDI

BenL Qumdlng.

| smyerd (R) : &ﬂg}lr_r,g, Geuanen eumiiiLyser \D&SERET psqqu}m Gprr&él B &R DS

A  (A) &0 syemed (R) seumy

B (A vpmpwb R) Quar@io &, Guaub (R) adansg (A)- aﬂ,r_r)@ mﬂturrem eder&ain
©) (A seumy e (R) &M

D) (A wpmb R) Qrendid &M, pamme (R) Grginug,g' (A)-eflhg sfwner aﬁ]mebsmebm
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166.

167.

168.

“In the thousand slums of India’s industrial centres manhood is unquestionably
brutalised, women dishonoured, and childhood is poisoned at its very source”. The
above quote has been given by

(4) C.B. Memoria ' d Radhakamal Mukherji
(C) Louis Wirth (D) Ram Ahuja

‘@pdlwrellen gmAnGL e safigicror pullpbsamndsnar Coflsafier waflgn Calumblem
QarerwuuBss u@dpg, Guansdar seuwdsstu@domisdr.  @GEHESL  U@HLD
A ouSSHGCtW BerFrdlng”. Qs sanern Saflwer

A) 8.9 QuComiwr _ (B) grsvsoe psig

€ gndsh&lig D) b GG

Durkhe1m s concept of organic sohdanty is found in

(A)  Rural communities d Urban communities

(C) Tribal communities (D) Primitive communities
LG&Ser s(mssmen %ﬁanaﬂé FneSmfilig. — & srawCILBEng).
(A) omps supsMUKISET , B) ey ssTLLIGE

O uwprEylaer FapgsmukiseT D) unc.p_ssimu_[rrm FAPSTIL R

The term “Missing Women” was devised by

(A) Malthus (B) Spencer

€) Visaria | | 0/ Amartya Sen

“Uevendin ayLoe” eramp LSLD WM 2 HeuNSSILLL &2

(A) wnrdgey (B) evQuenst

(C)  eflgnflwn D) owidwur Qaer
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169. What is Physiological density of population?.
(A

The Overall number of inhabitants
Land area

The OVeraH agrarian population

B
B area of productive farming land

M The Overall population
area of productive farming land

Population inhabiting a metropolitan region

D)

area of housing space

2 | eflw&s whaer Cgrens CbmEsD eTaimme cTene?

| @A) aumpUeiseRer GLongs erarafliams
- Hlevdiaginyg
eSeusnullseilen Gongs wiser Qsvens

® .%éseusn efleusmw Flewtiuguy .
© ' G]Lnrrg,g WESET Gl,srr@ma;

B &EEEUET feusmu ﬁleouul;ruq
D) - BaTU UGS eunupbd wasear Agrems

@Lq.ugl@ﬁn_; cugdll) iy

I170. "The measure, Wthh 18 showmg the total number of live births per woman, Who has
passed through the Child bearing period is called

(A) - Cohort fertility = - (B) General fertility .
Completed fertlhty | (D) Total fertility
@gp‘r_rasmg, Cup sTsMS Q’;B’GB‘BTIq.UJ Quenaflen Qwnss GipHas Lﬁlmuq updH &G0 ameﬁ@‘
eTaruU(hLD.
A) B smeueTd o . (B) Qung s@meuend

©)  wpryeym smeueTd - . (D) “Glmrrg_'r,g,es@@_lsm.b

171. According fo 2001 census, the densﬂ:y of population of India was
persons per square kilometer _
A 269 ' ’ (B), 301 -
©) 345 \M 324

- 2001 wasdr Oes ssmr&sguq,m uy @Qhfiirellan nssar QETens .=9||_rrg,g§1 (6 ST @Gsvrr

B (méE ————— BUITETiTS B mh5S.
(A) 269 : B) 301

- (C) 345 ' _ D) 324
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172, Crude Death Rate (CBR) is

(A)

v g

(&
(D)

‘The total registered deaths of a specified year to the total populatlon

multiplied by 1000

The total registered deaths of a specified year to the total midyear population,
multiplied by 1000

The total registered deaths in a year multiplied by 1000

The total registered deaths of a specified region to the total mid year
population, multiplied by 1000

ueuLg @ouiy eS&gh eremug)

@
®

(®)
(D)

@(m GMOEL L eumsde udutiul L Gorsgs @l sanet .-ﬂlr_r,‘e_r, aJ@L_g,QGuT Curss
W& QFransi|L e m@g,@ 1000y, Qupés Hean g :

@@ GO L eumpLsdle ugf,]u_luuu_ Gwrgs @oLiLsaner .@I‘FI)'Q'; QUBL. NI DSSHET
GgrevsuyLer aEss 1000 g6 Qumés deL g

S0 auBLSHS ugduinn L @miysemer 1000 e Qumss Hen_Lug

S0 @GP @LsHd uHuiLlL EoULSmer @I QL DESET Qg rensiyLen

| w@sg 1000 e dumss Ae g

173. Infant Mortality Rate (IMR) is

o

®)
©)
D)

The numnber of infant deaths registered in a calendar year to the total number
of live births registered in the same year multiplied by 1000

The number of infant deaths registered in a region to the total number of live
births registered in the mid year multiplied by 1000

The number of deaths registered in a calendar year to the total live births
multiplied by 1000

The number of infant deaths registered in a population multlphed by 1000

fl& @miiy oREFId eremig

(A)

B)

(©

D)

P sreart amLgdd udwuiulL fs @puqa;srﬂsm erimensansens 2Gg

- apLsde Yphs Gebossaier Grewrsmfﬂawasul_cm uGdg 1000-ge Qu@asas

&epL (1L .
@0 QL sda l_I;f;]u_Il;ILJI'_I_ fls @nuusaflen admeflémsmw, L @LLSSHD
uswinlL Gpbs Glbagseaflen Grmmﬂa;ma;u_p_sm au@ss 1000-o6 Qumss

Sen_tiLig)

& st aumLSdla uHuiulL @muysear worss GDHE GBS EHL. 6T
u@ss 1000-2460 QuEpéEs der_Lug .

@ wisar Agrestid vAuiulL. As @puyseldar aarefismsw 1000-2y6
Qupss fen_LiLig . :

67  ASHSO/19
[Turn over



174. The actual reproductive performance of an individual or a group 1is called
(A) Fecundity (B) Live birth
S Fertility (D) Still birth

@ saflalsear Swag e Gelar 2 armwwuna @eatumss Cewaur®

erenriu (HLD.
&)  Qaumsssdpan - B Gpbos Cun
(C) smeuard D) YGnssns s

175. Which of the following factors is responsible for the rural — urban migration in
India? :

(A) Natural calamities
(B) personal deficiencies
(C) Social conflicts

Better employment opp'ortﬁnities
emeupLd sryenils@ser Srmorisalld @ HHE HEIHsEHES LEEET @lq_@iu_rp STERTLOMNELS) TP
A)  Quies GuRLitser
B) salveais @opurBser

3

(C) seps preruTBHSET

D) Guibur L Coumaeuriitiyser

176. The first attempt to obtain the size of population in India was made during
A) 1767 — 1772 A 1867-1872

(C) 1881-1885 : (D) 1901 - 1905

@ndwureiler &HETOFTNS ieTan6u ase;o'm_ﬁﬁ]m Gun@smeTariul L 1pse pwnd

sransefld HLbss). _ :
(A) 1767-1772 (B) 1867 —1872
(C) 1881-1885 (D) 1901 —1905
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177. Consider the following statement :
Assertion (A). . As per the 2011 census, the literacy rate of the India is 74.04% |
Reason(R)  : India the highest number of young people in the -world.
(&) (A) is correct but (R) is wrong
(B) (A)is-wrong but (R) is correct
: Both (A) and (R) are correct
(D) Both (A)-and (R) are wrong

EssaTL aursSuiisamar smeHa Osres.
smphm (A) : 2011 wésear Gerass sensGa@indeany @bdureier soalwdey elfgswn
74.04% @b - |
smremd (R) 2 edld Gethd Guu_l‘gf,]wfr_gg‘,]aa@si'ré'r BTG @B ellerbGHng.

@) (A) st yemed (R) seun

®)  (A) saig e (R) s

© (&) wppd (R) @renGid s
D) (A wpgb (R) Qrew@ud seup

178. Whigh of the folldwing is the division of sociology
J Social statics and_ Social D.ynamics
(B) Social group and Sociai progress -
(C) " Social culture and Social Groups.

(D) Social process and social Institutions. |

E@EGQU_IG&GBThIQIﬂGmQJ &Qéa;ml;sﬁ)eua;aﬂsb GTeney G;TG&TQ[ GO
A saps Hlenew iemLoUIL] WHMID Fps QuIssD ‘

®B)  saps G wHmID &@5 @mésasfo

(C).  sgps vamur( LHNID FUPS GSSET

(D)  spps Lewpuimbie wHmIb saps lr_E]geueﬁréw;eﬁ

p B | | 69 - ASHSO0/19
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179. Ajrding to Comte positivism means

(B)
©)
(D)

The application of scientific methods to understand society and its changes
The application of theological methods to understand society and its changes
The application of cultural methods to understand society and its changes

The application of Socio—economic methods to understand society and its
changes

smbGLufler sapmiiug “UoGwienwb” eremug)

(A)

(B)

©)

(D)

FPSTWSOSUD iFen  wrHprsmeTud LfbgQsrarer  oiblebluwe Q,oa),ro&smeﬁ
vwetU(hEsieug)

FWPSMUSOSWLID e wLrHpEsmeryb UibgQsrarer @enpulued pepsmer
vwerU(hSgieug i

SWPHTUSOFUD igem WIHprsmeTu|d Lfhg Cararar sendsmy panEaer
vwetu(HSsieus)

FPSTUSMSUD DG THmmsmeT|D Lflhg Csrarer seps QUMHETTSTT AP DHES®mET
vweTu(HSgeug)

180. The term ‘Evolution’ derived from

(A)

S

©)
D)

Greek
Latin
Hebrew

Jewish

uflerrmow erenmm Qemed erdledBHg QuDLILICL & ?

(A)
(B)
©)
D)

ASHSO/19

£Cr&sb
& Sem
ablim
ggouileiy
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181.

182.

183.

is the nature of society which is associated with theological
stage. ‘

(A) Legal society _ M Military society
(C) Industrial society ' (D) Principal society
@enmulwied Blenevuj e CQsmiT L. Faps Guidyy . SHGLD.
A) slrdugurer FapsDd B) Qrremieu sapsd
- {(C) QsmPp Fepsbd D) seaerws FapsD

Which of the following statements is not true with social statics?

(A) - social statics deals with the major institutions of society

(B) social statics inquires into the co-existence of social phenomena .
soclal statics examines the human progress and evolution

(D) social statics emphasises the unity of society

Gemeu(mlo smpmssaticr #ups Hleauluena uHH g,mﬁ)naﬂgﬂ 57

Q) sws Heoeudue swassHo o drer (psfu Hoeuamiises ar Qsm_ i Qsradpg
B) sws ool &Lﬁa;rrso saps flspesaer g rmidpsy

©) sops poaudud wafls euerisflewwb uflarmo aerrsfawubd g rmidpg
D) saps Hevaulwued sups gpmenwe eusllynsgdng

Capitalism has been trul& a : force.

j revolutionar).r | - (B) progressive

(C) subversive (D) destructive

paoraSgeud o_amanullGaGus - &SNS Q)(HHS eU(BEDFI.
A) yrlfsgfiu - (B) eanGanhmapeer

(C) eNCGymgmer D) oufisssamiquw
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184. Which of the following: statements is not a characteristic of Durkheim’s social fact?
J social facts are reducible to individual facts |
(B) social facts must be regarded as things
(C) social facts are external to the individuals

(D) social facts exercise constraints on the individuals

lereu(mid sapmisaafled LiSidlar geps Gowienoudlen LaEmUOOTES) 6rg)?
A)  seps Auilamwser $&flHLUT QU LSETTS @enD&EsLIL[HE 6 e
(B)  saps Quliemwser s mwwnrs QunmersearTs smsLiuL. CeuammBLd
(C) saps Quwwlienwser seflbLTEEHEES LDbUTaETen e

(D) spps Auwiemwser seaflbLismer s HLLGSS S DS

185. Which of the following statements is associated with organic solidarity?
I.  Prevalence of penal law |
II. Increasingly s_écular
III. Concrete and specific

IV. Much interdependence

(A) IandII ,A IT and IV
(C) IIIandIV : _ (D) IandIII

Yereu(hid sapmissaien 2 ulflar s GLrmeanlum HLer Qam L wig) 6rg)?
I s&Lmend sl Lib Sjwaller @) mLius |

II. <dlsiugwrear soggieud

III. evgrewmens wHMILD SefldgeILT6S)

IV. @fls sriygemenio

Q) Iwpmwll  (B) IuopgnIV
(C) III wpyw IV D) I wpmw III
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186. Which of the following statements is not associated by traditional action?

187.

188.

(A)g traditional action is based on established custom
A! traditional action involves a systematic assessment
(C) individuals act in a certain way because of ingrained habit

(D) individuals have no real awareness

Qerreumid sapmissatles umpouflu Gewe er Bgm_mSdonsg evg1?
(A)  urpbufiu Gewe Bliwrafssliul L eupEaRIGMET Sig. LML WTEs Qamer_gl
B) ummbuAw QGewed m epLLESsIILC L LHIS oL QaTaT g

(O). sealilpuisear  gowrar  udlps  upsssHemd @  GHUGL  gpeapuda
Clewerihd prirger -

D) safipuisd o_gmewwrer siFiyemiansy QP mésaildmen

Concept clearly implies a mind, consciousness and individual making
' degpsions
f Voluntarism: ' (B) involuntarism
(C) Autocracy (D) Dictatorship
Sipsan. sHsHwLmsellds ames wear 2 eawiiay WLHMDL safl BUT apyas@er dHLUSDE
aufisr_(Hdlmg?
(A) semamieuLd (B) sewenmicu wH
(C) aGspéedammb _ - (D) sieurdsmrib
Which of .the following standards handling informational problems associated with a
mogivational problems? ' -
' j cognitive standards : (B) incognitive standards
(C) cultural standards (D) moral standards
Spaam_aupnet, aps g7 Heowsd (GrEfear  snips efleurisGerm(Hib LOHHILD
earg@elssliul L YysflenansGarm(n QEm_in jent_weneu?
A  edeysrins &7 Henwsdr : (B) #pgamanwupp 7 Hlenevser
(C) vuewur( sy He@ser (D) gnbs g5 Heneaser '
| 73 | - . ASHSO0/19
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1_89: Which is one of the following is not a type of social movement?
religious movements _ (B) reform movements

(C) revolutionary movements (D) . revivalist movements

EpsamLauppeT sTene SapS QUSsEEGT @m&maﬂ@ SFTPISEEU?
A) ws Pussrser . '(B) §iPBEs @usSshisar
(C) yyl&wren Quissrser (D) uslswss Qussruser

190. According to Roy Burman, the policy of reservation has to be made from more
rational and scientific (B) theoritical and traditional

(C) customary and belief oriented (D) ritual and religious

FTL LTS SHSSULL., SpsaT_musEnd afsd® dsramssda aas ufign srisg
Sienww Geuam(Hibd _ '
(A ussdey bppbd sificfiud srits  (B) Csslur® wpgbd sonssmpld arrr'rji,g

(C)  eaupsshsd bHp pwOsme snibg (D) sww sLBIG sTTHS

191. What are the two important components of social moverents?
(A)  philosophy and social organisation
an ideology and an organisation
(C) religion and an organisation

(D) culture and an organisation

seps Quissnsaiar apsfuonear @uaﬁr@ FoMHET TG 7

B ppmaud whpb seps Hpesend | i
(B) Qsmérensser LHHID Byeuemd '

(C)  tgibd wHmIb Hmcuend -

(D) uﬁun@ Loﬁ)gmb Bmieuan
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192._ The key components of economic freedom according to the Self Employed Women's

Assgciation (SEWA) is _
.' J full employment and self reliance

(B) partial employment
(C) unemployment
(D) under employment

FLGgMOED el siewider QUImETETT S56EF DIMGHGT araea aarm G LIEIR
(A pw Cpr Ceuene HHID HenembSlEens

- (B) v Gaume euminiy

{C) Ceauemeulleramn
.(D) Gurr;_f_,]u_l Ceuenaoullcnentn

193.?& case brought Women’s issues on to the public agenda?
)

194.

Mathura case (B) Nirbaya case
{C) Kathuva case (D) Gujraula case

e cupE Quenseidn Srsdmeansemer Qg daunssdbe Gsrar® wpss?
A wEIapss B) fHruwr uwses -
© asspeur @ge’rs@; D) . eRIyr usE

Write the expansion of “NEERI™?

(A) o National Environmental Education Research Institute
National Environmental Engineering Research Institute

(C) National Economieal Education Research Institute

(D) National Ecological Establishment Research Institute -

 Bpéssem_eauseie NEERI-ér edfleurisin eray arésmm @HL9®

A) GCsdlw spmsEpd saed opymisd Biyaied

B) Csfu spmFspsd QurBludud omisf fnpaiend
(O Callul QurmenTsTys scell LIMOFS Hlmeebd
()] G;a',é]w Gwellwe 2 VelimsH <pomisH Bimeuemd
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195. Which’ of the following _is an example of resistance movement?
| (A)- Arya Samaj Movement | |
(B) ‘Brahma Samaj Movement |
(C). The Socialist. Movement
Anti Hindi Movement

&Qm@m@m@gé‘r TSI QuISSESS DT 2 STTERTLD 6Tg) ?
(A) <24 Tl FLOMED Buwssd | |

(B). LD FLOMEY c@w&&nﬁ

(C) - & Gendwelievi_ @,UJ.E'SBBL'D |

D) ueng-ablpd Guésd

196. — is a collective effort to transfdrrﬁ éstablished relations within a
particular society. - o '
(A) Social action o M ‘Social movement
(©)  Social change (D) Social process

| @@ @GOG L gepasshia o drer Hlanewliupisiiu L @g;rn_fn_iasemm WwrHmIS e &LI'_-@ PunHél

araru(hLb. _
(A) sops Qewe - (B) epsQussd
(©) sops wIHOD . _ D) &@a; QB LImhIE

197. Th : elf-Respect movement was started by
- E.V. Ramasamy (B) Dayananda Saraswathi
(C) Swami Vivekananda : (D) M. Karunanithi

sLfuTes Qubssams Carpoeisser . |
(A)  F.deu. pmoemd (B) BUITSTHS seneud
©) samdOCusrasr D) -qp. sEGETTHA

ASHSO/19 - N TX | o p



198.

-_199;

200,

Who among the following social reformists is styled as the -reformirig Luther of

Hinduism? .
(A) . Raja Ram Mohan Roy (B) Keshabchandra Sen

D.ayananda Saraswathi | (D) dJyothirao Phule

Spsanand saps ST mssanlaendr. Qg wesflen Siflnse e e SEsiLGUT
WIm? ' | : .
A) s gmd Guomser pr (B) GastishSy Qe
(©)  swrenps syeveudl (D). Gagrdlpmeu q.Gsu |

Which among the following social movements 'brought the issues of landless wage

earning women and the perils of alcoholism?

Shahada movement (B) Purogami stree sangathana

~(C)  Shri mukti sangathan _ (D) Shramik sangathan

SPEETEmID FOPE BIISEEIGERET ﬁcouﬁ]ébsorr Qg sacdmean Ardsemengeenyld, Logiedler

- QL isememud GeuellaCsran() eubsgl org)? _
A) esngn ‘@u_lésaﬁm _ B) yCrrad AM FIBIG THET

C) o p&d stisgen D) &8s shisger

Who amo'ng the following has created “Prarthaga Samaj™?

(A) Mahatma Gandhiji | - Ashabchahdra Sen
(C) Atmaram Pandurang . D) Dayananda Saraswathi

Spsreprucuisefler “Ormisean swong”-m o (heursdwens wmr?

(A) Ln.asrr‘&',mrrmrrlr_'r;g%]@ : (B) CGsglsndly Qe

(O ywrmb unekrRiys R D) swnahs sreveud
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The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

This Question Booklet contains 200 questions. Prior to attempting to answer, the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
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will not be replaced.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Code with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four respenses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you copsider the best. In any case, choose ONLY ONE response for
each question. Your total marks will dep#md on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles (3) ,(®), © and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, is the correct answer, you have to mark as follows :

®0®00

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded. you must hand over vour Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with vou only after the Examination is over.
Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.




